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F=mg=70kg x 9.8 m/s*> =686 N
Newton = kg * m/s?

P=F/ A=686N/0.2m*=3,400 Pa.
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Vi.P1i=V2.P2
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(1.0 atm)(250 K) = (2.0 atm)(T1)
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T1=125K
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Vi/nl1=V2/mn2 — n2=(nl xV2)+VI

n2=(0.8 x12)/6 —n2=9.6/6

n2 =1.6 mol
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R=PV/nT
R =1latm * 22.4L / 1mol * 273K = 0.0821 atm.L.mol'.K"!

2- R=8.314 J.mol 1. K"!
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R=PV/nT

R =101325 Nm * 0.0224 m* / 1mol * 273K = 8.314 Nm. mol.K"!

J=Nm_ ¢ duasg

R =8.314 J.mol L. K"!

3- R=1.987 Cal.mol 1. K"!

Cal. = 5 _aw

4.184J = 1Cal.
8.314 J.mol'L.K!'=R
R=1Cal * 8.314 J.mol'". K / 4.184J =1.987 Cal.mol’'.K!
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